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on - il On micro in the Industrial chemistry deals with the manufacturing 1
economic | commercial
scale laboratory | of compounds:
scale scale
. ¢ - g g - : . v
K sV fﬁ: 5 / | f:‘-‘fﬁ b, ,m,mc,u,v,,)d:*’ Il et
. ‘ : Which one of these compounds can be separated | 2
Radicals Compounds | Elements Mixture :
by physical means?
i b - ?Li:{&lUJG}L)LJU:uk&I:‘_ULbLLU:JW
L S fl P B ,, L bt
(o . The most abundant element occurring in the 3
Silicon Nitrogen Hydrogen Oxygen .
oceans 1s:
W " o e | ?‘.;;.t‘lgkgajkjc,qu:dpjl{y&g‘{’,lvc)f(:.ufcjl )
Aroon Silicon Aluminum Oxveen Which one of these elements 1s found in most
S s abundance 1n the Earth’s crust?
= Q — J
W 2 T S Ik a.aw@/ S e Ae L b St
. The th a\bundant gas found in the Earth’s|
Argon Nitrogen Oxygen CO ﬁ
atmosp é/re 1S:
1.66x10% | 1.66x10 | 1.66x10™ | 166x10 %< )" fe Ly amucfl | o
g kg g mg (7<>One amu 1s equivalent to:
> "
Co, H,0 O, \ff p ‘e U bdnleta |
| ﬁ\&% Which one molecule 1s not tri-atomic?
S\ O 5 B e '
18 amu 18 g 18mg )| 7 18kg R AL | g
AN % The mass of one molecule of water 1s:
AN N
O e JU/»6§H, SO
N g 98 amu <“ﬂ-fa(\\§9.8 g 9.8 amu | L 2 9
- The molar mass of H,SO, is:
e LyfUtamuyL/y 60, = Ul
19210~ | 1.92x10™ | 53.12x10°™ 32 Which one of these is a molecular mass of O,in | 10
amu’?
S ANl L /-'ff 8L CO,
0.15 0.18 0.21 0.24 How many number of moles are equivalent to 8 | 11
grams of CO, ?
(Ui 6 1 & 3L
D C B A Questions | =iy S A
i B o 15 B e osb i bl A ST ;
Bromine Fluorine Chlorine Iodine The element found 1n the liquid state 1s:
Lt o & J# eledytate S|,
Plasma Gas Liquid Solid Mercury metal 1s found 1n state.
j-» o a7 (;&J :‘:;.JL{;&IQ’}'Q 3
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Calcium Magnesium Sodium Lithium The lightest element 1s:
JJJ“M.JNJAM&L/JE_)J?/JJILJIILgufu)'ébﬁquf*/:
SHAE | S | ST | §E T S TRIGI
N UCl?al’ Bi(_)' Inorg?.nic Orga_nic It 1s the branch of chemistry in which we study the 4
Chemistry | chemistry | Chemistry | Chemistry | gtructure, composition and chemical reactions of
substances found 1n living organisms:
5 . ¢ £, Z%#‘lU{)L%E.&‘J&de{,ﬁ/:(’H
. ’ . The element found i1n liquid state at room S
Mercury Zinc Copper Sodium -
temperature 1s:
o “, _ T;}"jT
98.9% 99.7% 97.6% 96.9% | gt el 55 C-125 6
How much isotope C-12 1s found?
39 40 14 12 ‘e bl AUELL |
What 1s the mass number of potassium?
, ; P ¢ Y9 v, s s,
i UF J A S ..‘“JL"{ h"/id/ |
Metalloids Solid Tiquid Gas n which condition 1s the majority of the elements
found?
7 A [ K | :‘;;t*t?,t{ Y 1] 5
The atomic number of an element 1s denoted by:
Ba B Br Be {N’?I\Sg\) | el o 10
The symbol of Boron is:
;\,{g\;\\éh/ :‘.:;_u}wblulﬁfwﬂé d/c)}*,ejftuiglmf
48% 8% 63% 78% ) < >’E“héi)ercentage of nitrogen in the atmosphere by | 11
A () weight is:
9.106x107* | 9.106x10% | 1.672x10* 1.@1%13324 e LKA -
g kg g {{\\ﬁkg Mass of an electron 1is:
x*'u,{ ':f/;\u‘*; . b 57,
78 amu 63 amu 42 an ﬁ/‘;\’ 18 amu _ UL S 13
Rt s The molar mass of nitric acid 1s:
IO | : K
C2H20 CZHO <g\\> CHO CHZO .%.U)"Jbﬂ “.,Ml{;'/}'g 14
- The empirical formula of glucose is:
[ ) The number of naturally occurring elements is:
K O S P - KL 16
Symbol of potassium is:
. 3 , 1 | _::;_ﬁst' S Fey (30,); wHSE
Valency of 1ron 1n Fe, (SO, ), 1S:
1.4860 amu | 1.0073 amu | 1.0087 amu | 1.5123 amu | R | g
The mass of proton is:
CH,O CH C.H, C.H, e U i K -
T The empirical formula of benzene is:
é/ujT 57 s J Which one 1s d exam :?J(;{’{n/f e;ﬂ‘rﬁ 20
Ice Cream Wood Rock Soil e 15 & S000 CAAMPIE OMOSENEOUS
mixture?
28% 47% 78% 86% e b a SF TSNS | 21
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The amount of oxygen on Earth by weight 1s:
C,H,0, CH,O CHO CeH,, 04 U VS E 22
Molecular formula of glucose is:
H,O CH,0 CHO CH I BLFTE | s
Empirical formula of glucose is:
HO H,0 H,0, H,0, R Ty | gy
Formula of hydrogen peroxide is:
0. H.O - co. | = JodURtbds | s
Which one 1s an example of diatomic molecule?
I ICIC I
u@pakcity.org%c &VJ “ 12'-,—;,!,;\
A\ Q \
i vo & 4 e\?ﬁ)
(= Ul 36" U1 ; ‘5@“ )
(“Q:;\L\Q . . S
D C B A 0(\\13\}; ) Questions | =i K
e R /¢ r,\>w i el s L * .
c‘ﬁ:i’qﬁg il 2 mféyJ Sehich one of th .dﬁ%i@j’if i;uj&u:uf’ 1
athode s NG ich one of these results in the discovery o
Rays Canal Rays | X-Rays {&L@Mays proton?
. b . i . B f’“‘“g "C}\I"‘j ':JLU-J’ : f
7:’3,{: 7,9/,.0! 73/ \/\?if Al .:h ?UELUJ_/;‘.:;{I/ME)L*-WU:L.)L}ggfkd.-u}(c..u:cﬂ 0
—) ‘\.K p a . . ’ . ‘?
Protons Electrons Mb\l;cgﬁfgns Particles Which one of these 1s the most penetrating”
N
u/u;?-a 59137 \B\/ Pl J(Lj: Q'L_J/fc‘_u/)r‘jgﬁwﬁéﬁl 3
- Rutherford Bohr Planck The concept of orbit was used by:
Thomson
S0 LN FL SM e S E Ll |
O Shell N Shell L. Shell M Shell Which one shell consists of three subshells?
_:". . _J.. ¢ . [ - ::'“ J»“ ‘HJ’ T ) .
60-2)S | 131-z3¢] 590 i Ps X g S ‘f‘f?{ e LA d"(’;’wf afﬂ'z*fw’f( -
Cobalt-60 Todine-131 trontium- osphorus- 1C 'ra 101SOtope 1S used I1or the diagnosis O
90 32 tumor 1n the body?
SHEL 21y Sa iy 54 20 :wzé‘_mﬂ,a.u’l?{_fﬁi235-ﬁf’ugﬁ.e 6
Nothing Protons Neutrons Electrons When U-235 breaks up, it produces:
‘(:'/I':-jfj[g 4#]'0: ,{;%1'}) _,:J’:‘:JTVQ :L(}‘}:}‘J‘?#p
re AIres A0 Ofle Orbital | The p subshell has: | !
Orbitals Orbitals Orbitals b su '
735 a3y I:I/‘j o AlaA Y ?Qt‘ﬁ‘_) l.;':"lzj_ LLQQQ:JUI éf{j 8
Hard Water | Soft Water \;jt?ﬁ Light Water | Deuterium 1s used to make:
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99.7% 98.9% 97.6% 96.9% | B Fe12.0 | g
The 1sotope C-12 is present in abundance of:
51}1.31 /p’/&’: u/l‘;?-&- Ufﬂf ngkJJu;}{:LU'ijJKLU:UI 10
Rutherford | Neil Bohr R Goldstein | Who discovered the proton?
Thomson
(6 U2 BLor)

D C B A Questions | Uis -
PILE TN VS PV /g / 79349179 /g l 2, }gl o y:y u:‘_{}: ¢ (E’ .
Protons & | Electrons & | Electrons & L

Electrons | The nucleus of an atom consists of:
Neutrons Neutrons Protons
Jﬁgz 0y e L/(p’/( ?g :JEJ"LJK[U";J‘:’ 2
Chadwick | Rutherford Bohr Crooks Who discovered the neutron?
/;ngi SJK:R//’/T];/ dﬂljulg u:aﬂf ?J._",:’LJ)J‘/_,JB;{LJ/ 3
Neil Bohr Héjrot)ksm John Dalton | Goldstein | Who discovered the cathode rays?
yi P . QJJ}LU’MFL’/L;J&EJ;.%
d"”l; 3% 37 c)/l.af Vs Which L d th I dd 4
Dalton Rutherford Thomson Bohr ¢ sc1er1t{st proposed B plom prucing
theory? A\
D) . 5
32 18 R 2 L"E«\]S‘\f < :J?L-}’EJ’J/‘QIML)LU}E)JJ:K 5
K shell can accommodate electrons.
0}\,{:&&\\ wipr (% ¥ & ‘
~ 1 )|"Which shell consists of three sub-shells?
} éf\ - ?3%@.”’ 7 }gu""rfu{:f u"*.;;_;_lwf 2R 04
Xe Ar Ne < y)-He Which noble gas does not have eight electrons in | 7
( O its valence shell?
/‘“ZX” U Ee s AL p
3 6 f\“i L The p subshell can accommodate 3
p electrons.
3 - : , WECHAREEN |
The N shell can accommodate electrons.
- 18 : ; wECHAREM | o
The M shell can accommodate electrons.
N M L K | e T T
Which shell consists of four sub-shells?
. . o | e P I AG SUE P
5 11p s ap s 1np ns The general electronic configuration of the | 12
halogen family is:
5 4 3 ) :q_;l»’d/ug:jﬂl‘_(djg 13
The number of isotopes of carbon is:
30-U56 90-< s 131-¢357 60-215 e bndend LU §F 14
P-30 Sr-90 I-131 Co-60 Which 1s used to diagnose goiter:
llC IEC I3C 14C Q‘C.u?f;)j'Tzzju—gL’C)[ 15
Which one 1s a radio-isotope?
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Co-60 I-131 Sr-90 P-32 ' :’ﬂi'mdwl"& Lo 3:/%( 16
Which one 1s used for the treatment of cancer?
:gl;_t‘ﬁJt’x’lé Lz_ﬁﬁf u’:/ﬁ'gdzﬁgz:?f;;"f
P-32 Co-60 U-235 C-12 Which isotope is used to generate electricity in | 17
nuclear reactors?
PAQAQ SR @A ¢
' 27 5 > 4
rakcivorg B (3 pfelor? S As Bt
o, 0
(= U1 S U y-fo
D C B A Questions /| Ui S
" .. . b S e Anldsitgs 2§ G AT bl YT s 21 L1 Ut ol
d“:"c)!/ﬁg' &;.:Q,/bg, A7 T L;-/"U"bj | @?"\SAB | -
Electron Electro- [onization Lattice (f(ﬂ\’ | | 1
@éfﬁ}@(&ded to an atom 1s called:
: P
l:n'J"( KK : & (4 f’>>
- < L L L 72 S5 A, ﬁ
Completion # . e . - ,:{éé S pd S S e 0
Atomic Atomic Elgctronic ..
of a NG ; Mendeleev Periodic Table was based upon the:
Number Mass @?Ténr&tlon
subshell Al N
. . NV Y b —
AU ULl /%}EV J}""Igufi;’:‘ %J?Jdﬁﬂwgl (JGJ}J
Mass Atomic | A@Mc Mendeleev | Long form of Periodic Table is constructed on the | 3
Number Mass <:~N$Number Postulate basis of:
A . A b Z
Tk kIS s Tk by kSt b A Wi rUE Lol % Fozrd A pIT ALY
Very Long Long Normal Sho;t"i’eﬁo ds 4™ and 5™ period of the long form of Periodic 4
Periods Periods Periods Table are called:
Ustdl Y djug O ?c,,:-( Lwiiﬁé‘:fg SRk e 5
lodine Bromine Chlorine Fluorine Which halogen has the lowest electronegativity?
d,r;(:,e Ky S s A2 &/lﬁy.tgl uij-,gzbi‘/lfl ?g.thJﬁ&:;’Jufauﬁuluiiﬁ-Q )
Electro- Electron lomzation il Along the period, which one of these decreases’
negativity | Affinity Energy Radius 5 M petiod, '
47 e el PL“ZUU(‘V }Erv" /._jrl; :wlﬁﬁ'lﬁilﬁ
All Al o All Metals All Gases Transition elements are: !
Metalloids Metals '
(e 3601 2 3L
| A
D C B A Questions | Uiy .
I
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s b E A Sl o
6 S - 3 How many blocks are there in modern Periodic 1
Table?
32 20 18 g | e sisd g |
Number of elements in 4" period is:
32 2 18 ] :;.;I,&f f’ilui&/,;-a./» 3
- Number of elements in second period is:
5 4 3 ; !?JIMJ/U‘&U:/&/.?% 4
Number of elements in first period i1s:
LirEl i iy P Wl U Mpre |
H. Moseley | Mendeleev Newland Dobereiner | Who proposed the modern periodic law?
stdedLts JU L S S B
4 3 2 1 Alkali metals are found in which group of 6
Periodic Table?
JLAb § AL " u?JLlfKJJLbFuﬁ'JU’H{U:J;J?M:
_ uf'.,/ Y : " - ST
Atomic Grouns Atomic Periods The horizontal rows of elements in the periodic 7
Mass P Number table are called:
ZI P up’i'u:iﬁz;
32 18 3 2 A\ | o | 8
Number of elements in 6™ period is:
{:’E;;S\f (:Qé- 2 ;lﬂd/uf':)/fd: Jfﬂwgfpbjﬂ
20 18 IS 10 :,x,glﬁﬁ(ﬁbér of groups in long form of Periodic Table | 2
_ %\ijﬁ 21‘
Skl Ly e ﬁiﬁ?z;d) WU 10
Newlands Moseley Mendeleev Qébéx%ﬁer Who presented the law of octaves?
: N\ s ) :
J_}y‘él V2 5813 O\) /* 3 ?%;l;;ld/(/(/:/u(ﬁ'l 11
H. Moseley Bohr Rutherford | ~ Dalton Who introduced the atomic number?
T\ ) - - & - 7 e
”i\(ﬁ\@ :ﬂg_dﬁ;lﬂd/fjfgfuﬁfﬂjéﬂuz!
32 13 <i’:\\\/ 8 . The number of electrons in the valence shell of | 12
[~ Noble gases 1is:
?G‘ﬁ{;ﬂy}}glﬁwt‘fﬂ;%_lﬂvﬁdu/
Xe Ar Ne He Which noble gas does not have 8 electrons in its | 13
valence shell?
:’Luﬂj’l uf-:f :ﬂl A w@mfwtﬁdu“uﬁd‘fﬁw 14
tomic Groups tomic Periods The vertical rows 1n the Periodic Table are called:
Mass Number
ST RIL Tkl d haJt Tkl E WoR e /ﬂf,ulﬁwﬂlﬁaju.tjf J?MJT(;GJ:J
Very Long Long Normal Short 6™ and 7" periods in long form of Periodic Table | 13
Periods Periods Periods Periods are called:
5 4 3 o :ﬁl—aﬁ&;fg’/ig'd/dz’fft 16
- The electronegativity of nitrogen is:
, ?B;”*’t"“ oo g7 .
C{f}b Q:jfT u:}j* Q:J’K | — *’L U:."IC—’/’O'JU}J..L’UJLJU'
. : ; ; Which  halogen  possesses the  higher 17
Fluorine lodine Bromine Chlorine iy
electronegativity?
115pm 110pm 140pm 154pm e Lol uy;;iég:jul.f:l@;( 18
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The distance between the two nuclelr of the
carbon atom 1s:
5.0 4.0 3.0 2.0 e G0 A S 19
o The electronegativity of fluorine is:
182pm 172pm 162pm 152pm - G URUELL |
The atomic radius of Li 1s:
4.0 0.6 2.0 1.0 G DSk | )
- The electronegativity of carbon is:
+496kImol™ | +419kJmol™ | +403KJmol™ | +377 kJmol e GAF AT HS sy 9
The first 1onization energy of the sodium atom 1s:
ka bl bk s b4 4l :{_L"M a:uf(.w'f S ,
Very Long . Normal : . . 1 . 3
. Long Period . Short Period | First period of Periodic Table 1s called:
Period Period
ik gk e
AND )
7 \/j\e\ ot
NO)X
;\éﬁi“‘l O
p‘%\} "%‘\ :4".";!
) ',*. a o &
1] /.:/ (3/ )
Questions | <=y V-
Llsj/u@lzejdbfi.ﬁéjﬁﬁfﬂﬁ_ﬁ}gl J/ﬁ‘.l
. 10 % é ! ?gﬂ(@/o;&):.qf:!lxufc.,uﬁ/}il q
R £ Considering the electronic configuration of atoms
which atom with the given atomic number will be
the most stable one?
) LUI;%CLJVLHIE,}};}QIJ(:,:-f{:l;-:g:}‘gl_,gl_f;:
d’i—&_}/&-«fzil[ ‘_".«J:')JJ//lgf EAT M * i ..d/ _
- . DAY . e Bel .
Coordinate Polar - % | e On( '“'Q | 2
Covalent Covaletit lonic Covalent | When an electronegative element combines with
an electropositive element the type of bonding 1is:
(s Q‘J/&_&jﬁ[ AT el ’( :{ﬁ;;ub ﬁiLUUidk‘ﬂLﬁUb)
. b s . .
T Coordinate " : A bond formed between two non-metals 1s 3
Metallic Ionic Covalent
Covalent expected to be:
:/:/gl;lg "/:/gld: 73 /%19 c):/gl_,gl %%L/ﬁibi}”u‘:){ﬂ&&)[ )
o 15reg L3O Ll A bond pair 1n covalent molecules usually has:
Electrons Electrons Electrons Electron P J '
HZO C02 KBI_ CH4 Q%G_fﬂaﬁ.—ggijjgjng’U}rﬁ_u:0| 5
Which compound 1s not directional in its bonding?
&L o 4 " et o JLWCH, | 6
. 5 . 2

v

-
L
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Five Four Three Two How many covalent bonds does C,H, molecule
have?
. ¢ - . b" oL ”J:. y e b
dor | oa : Ao e SEeid)
Only Three Four Six Eight How many e ectrons does a triple covalent bon
involve?
?%&”42;45/4,91,?%0/0{?@@
2 &C,H, | 0,&C,H, O, &N, O,& HCL | which pair of the molecules has same type of 3
covalent bonds?
fe o b LAl e sty
MgCl, KBr NaCl Cots Identify the compound which 1s not soluble in )
water:
e edud 3 At = Ui
O, N, B, NH, Which one of these is an electron deficient | 10
molecule?
H,O & T AA '
H,0 & HCI : HO&N, | 0,&Cl, e S N Iy
C,H, Identify which pair has polar covalent bonds:
. i JJ}){‘QL/E’ * b
JJ;A‘}/ Inter- JJ;H@? JJ);J,‘ET QLJU[JJJ?J}}UIJL&JLUL-'J)‘:'_/,/*}l::..u"'cﬁ 12
Covalent Metallic .
molecular Ionic Force | Which one isthe weakest force among the atoms?
Force Force A0\
Force )
sl e TS q </ o)V
b, Thel e Zs, s 21 ‘J\’{;\,\\:‘ \ - o>t i
_J:/,u(: J»Qu{;f J..og,.f,y ..QL._,@ <\,\} >) :Lj:'ﬁ}wd/:bﬁglukﬂiﬁl 3
Coordinate | Covalent Ionic Metalli¢:, D e .
. . o Transter of electrons between atoms results 1n:
€ evaleit Bonding Bonding Bondi g/
Bonding Fa \{7 @X
Qo NS L
A ,
D C ) {\&B) A Questions | «Ul» #rt
7P s (\/\ r
Lz, | 7 :1"“’ ST PR Ctdn e A5 s Ut sl
Hydrogen \@1‘;; Attractive Repulsive | Which forces dominate the formation of chemical 1
Bonding Forces Forces Forces bonds?
24 ¥ i S e bl e ™ 5
Dative Triple Double Single Covalent bond found 1n methane is:
Sl AL g ;’L&_”( = T Gleidsy e b e Bt E L P s 7k 0
Metallic ative — Covalent | The bond formed as a result of complete transfer 3
Covalent [onic Bond : _
Bond Bond of electrons 1s called:
Bond
sibafa s iy
L iLduJ;n( s EAT e :;:;.l:'Uf'(u.:;.l:'Tuﬁ)ﬁ;a:..J;lu‘?'l,é;;,a}gl:?jiy
Coordinate Covalent Ionic B“on d Metallic | The bond formed due to mutual sharing of | 4
Covalent Bond Bond electrons 1s called:
Bond
akalss | ek y | dedayol | AL et T2 LS e n A28 Liniedsd 1|5
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Dative Polar Non-Polar Metallic If a covalent bond 1s formed between two similar
Covalent Covalent Covalent Bond atoms then it 1s called:
Bond Bond Bond
H,O H, HNO, HCI ediflpetofato | g
— Which one 1s a non-polar molecule?
:%J}K&;«;?:}gld/@ﬁmu?uyg
2.0 1.8 1.6 1.0 The difference between the electronegativity of | 7
hydrogen and chlorine i1s:
?u}@.ﬂ?wyb’ngL}foQd’;&;{ﬁ
8 6 4 2 How many electrons does a single covalent bond 3
involve?
NH. N, C.H, 0, | e JoE :J:c'gq,/ 2| g
— A good example of triple covalent bond is:
:;.:lﬂd/f:fglufﬁ u"’kjiqfng
1 6 S 4 The number of electrons in valence shell of | 10
chlorine 1s:
N, HC] cl, H, Cebaitebal Ut | g
Which molecule has a polar covalent bond?
‘}’ u;j_,/ ‘;7 i) ‘f" = Fu e UL ,9 \ e bl P |,
riple ouble . . ..
Lines Lines Single Line | Dotted Line Hydrog&q dlng is denoted by:
, . S "”““5‘\ O “ _
L u”f{:/ LT T i <>W “u‘dr/z;o‘ufu*ﬂtw’wi’k 13
. . nter- 0
Metallic Covalent lonic mol@ Ql/glali/ hich forces are present in hydrogen bonding
1.4 gdm*'3 0.917 gcrrf3 1.5 gdm*"3 <I @ gcm - :%dﬁwu}d/d‘f‘(’ A 14
AL The density of ice at 0°Cis:
IO T -
1713°C 1613°C F18°¢ 1413°C gt | e A1y MFNaCl | s
Ko NN Boiling point of NaCl is:
TN\
NI LT
0O, HCI ~ H, NaCl SOl ] 16
Which one is an example of 1onic compound?
1000°C 800°C 750°C 600°C AY A PENaCl g,
The melting point of NaCl is:
u:' l?dj'b J &l :Sh?/l:
" ol
(= U1 36 U 2
D C B A Questions | =y Y- s
100,000 | 710,000 1000 100 S sl W E e 00| 1
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100,000 10,000 times | 1000 times 100 times | How many times are the liquids denser than
times gases’
3 . \ . Sl AU :’u'/ 5 /-”’ 54 UI-u.?cJM}U@ Jwt;-:.f
gdm kgdm &Cm mee Gases are the lightest form of matter and their | 2
densities are expressed in terms of:
; U C S s St n i ASEI A b e g2 L1y
e Liquid and | Liquid and Gas and Which of these coexists in dynamic equilibrium 3
All of these ; . .
Solid Gas Solid at freezing point?
B FrF | P | P ce el reufe vt AU P
? 22 . . ) . .
Translational | Vibrational | Rotational | Which one of these motions are possessed by 4
Both B, C . ; . . .
Motions Motions Motions | solid particles?
J/}'g e bélk 7 ?%ﬂdﬁs’g};ﬁlvu{adul 5
Glucose Glass Plastic Rubber Which one of these 1s not amorphous?
Cetnds L & 2, latm
10523 106075 10325 101325 One atmospheric pressure is equal to how many | ©
Pascals?
J(&/ S ol s &)lg}y’z) &)l{:.«g’. :ﬁ;.(jyzuﬁUIUJLf}{fi/JéU{.@LﬁJCﬂJ%%’I
None of Very high Moderate Verylow |In the evaporation process, liquid molecules | 7
these energy ENnergy energy which leave the surface of the liquid have:
L ssF L Pk QD) e ldSiBadriAvoladty | g
Chlorine Fluorine Helium Hydrogen Wthh(Oﬁe/ of these gas diffuses fastest?
r 7 _, | \ > —
£ /:;n d_"f“lf& N Al 4 Jf/rﬁv Q\S‘; Al Y ,zm}u._myﬂ T, /o”u/ = el
— Nature of External ot H °Which one of these does not affect the boiling 9
T liquid Pressure moi”ecﬁhl‘ar/ oint?
of liquid 4 . Forces | P
] ; \Aq
Co L Al ( \)
> ™\ PO\ nE ; .
V’:’d/ < ‘:'L’mftf’{‘-« ~ %WAZ'/;I :KJIH.JQLJE’,‘V:U{“*".?JJ{ 10
None of Volume is Bres@}e 1S | Temperature oo o . !
these ” i\m\ﬁ“:rease 4 1/ acmased Density of a gas increases, when 1its:
kept QW
constant
[ : J:/'U); );:!? ¥l
di;nfbj?t _ LU as | LIt Ry
é_ulu: e, b o j
; £ Increase of = S oot 0 1
CLbase O e Increase of | Increase of | The vapour pressure of a liquid increases with the:
polaciy of molecular | temperature pressure
molecules
forces
(U 36 01 2 3L
, A
D C B A Questions | < .
s
J#9CsB u’r’;f C:jl. f’? !‘f__:ﬂlaq:}'a)bfu(wl. 1
Both B, C Solid Liquid Gas The simplest form of matter is:
Nm™ mN” N m”° 0T 2 2
The SI unit of pressure is:
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4 3 2 1 | ?fblfkguiuﬂbdfbu’(m 3
Matter exists in physical states.
oz 2l Sy P LI o ?%bﬁdhﬁu' VU/;LL/(’W/’{%J&”?J
Which 1nstrument 1s used to measure the pressure 4
Barometer | Manometer | Thermometer | Hydrometer | .
in the laboratory?
3 e QS A F T, 2ot 351 s 20°C
-3 -3 — —3
3.4gdm 2.4gdm LAgdm 0.4gdm ™ | A¢ 20°C and at normal atmospheric pressure, the | >
density of oxygen gas 1s:
¢ bar J ST Lo ‘ & o g
s }::;Q; 4 2 | ..4;'_.L fJW'J’V%J/éLL/rP/.{,JAVKI
Which instrument is wused to measure | ©
Voltmeter | Electrometer | Barometer | Manometer :
atmospheric pressure?
120°C 100°C 128°C 118°C - B L
The boiling point of acetic acid is:
40°C 39°C 38°C 37°C ¢EAER d"@_J"WUM 3
The normal body temperature of human is:
—273°C 73K 173K 273K ?g”’4jf£"g‘f{4f£*/ff 9
At what temperature will the gas volume be zero?
100°C [ 0°C 2°C P B S L AT
The frec;ﬂh%ppmt of water is:
Nt s p g B
120°C 100°C 60°C 0°C O | e F L | gy
) {xﬁh\e@)oﬂmg_pomt of water 1s:
RS ) T
0.001gem™ | 0.108gem™ | 1.08gem™ | 1.00gom’ =80 |y
—+——= | The density of water is:
2 ./ ‘:F L
7y L JE (:\1{9\/’;/:; e g AT Liys 13
Rubber Plastic Glass -\ \<'Diamond | Which one is crystalline solid?
Jl(}g a.E«L}_ (\i ?‘\%j\;v ey |4:j;y” %JU’JJ);JJ)‘;I 14
Glucose Plastic | <Diamond NaCl Example of amorphous solid is:
R
a%pakcity.org /)L‘ :65:-/!5
U o 7~ 0080
(& 25
D C B A Questions | =iy Y-
O B Y S B el e dodPh e |
Gas 1n Ly Gas 1n Liquid 1n . . ‘
: Solid in Gas . Mist is an example of solution:
Sohd Liquid Gas
/ Jd‘td,& i‘: S//yu':d*l; Q%éLJ:J);J‘JLJL’UJ(LJ:U' 2
Fog Opal Butter %;t;n Which one of these 1s a ‘liquid 1n solid’ solution?
B AL Sty | S oy e Ly
j jJ . &) L =
BO:;] Auazd é g s ?%MJJJ/ 3
B Solvent to Solute to Solvent to | Concentration is ratio of:
solution solution solute
0.25M 0.5M 1M oM S baml AT S et | 4
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Which one of these solutions contains more
water?
J!'Lt)’fj B . ) . . Z
: _ X t'l?ﬁJPJ[?U; YUN by ol 79 ey Ly ¢« 7Y Ly _ by /i
u}ium %t’ﬁjc::.-.:*?’ t‘:fuﬁ/f N
Dissolves Dissolves Does not T =TS
and slowly dissolve Dissolves | If the solute-solute forces are strong enough than
brecipitates readily those of solute-solvent forces. The solute:
??ﬁﬁldr’”aﬂ%@i{,&b’rd/fajcﬂ
NaCl NaNO, KNO; KCl Which one of these will show negligible effect of 6
temperature on 1ts solubility?
u’s}”Kfr Eé;f;;f JBH _ﬁ ?% 2 u:‘ﬁ,ﬁﬁl/ufg_,uiul 7
Sofugt?; ) Ma‘gne‘;ia Ink Milk | Which one of these is heterogeneous mixture?
JC’; {‘l'l'jf i e U;LJK/'V :z.;;.l:'/(a rbreLs Ji ]
" Jelly Paints US| Tyndall effect is shown by:
Solution Solution
:%.Vlk(f;i.lggj% 10cm’ uﬁ&&_rlfl 00./]
% v[v % v/m % m/v % m/m | [f {0cm’ of alcohol is dissolved in 100 g of water, | 9
1t 1s called:
: , O,
: 4 s | TR | T )
Nﬁf if céli;;;d Al Al ( o‘gj’ B L T (S T
these Solution saturated saturated . {* h\é\n a saturated solution 1s diluted it turns into:
Solution Solutlo;bQ_Q-) ~
AT |
Lo Lendy 100L ez dls /14%\‘5;,9’ _ ) b
J: ldm3 J" 1dm3 j ﬁH§@ fj{ :ﬂbﬁjﬁ%)’ﬂﬂ)d/jféif}’lful/gf
D ) . _ il « \O( 7 Molarity is the number of moles of solute | 11
ldm” of ldm” of 100 %?\{\, PV 1 kg_of dissolved in:
solution solvent fi? S?HP solution
H\j}‘"‘\ g > s *
S (U 3& U 2 3L
D C B A Questions | Uis Y- Y
Cobuidl |, .,.
e | IR | Ly | O SIS
= Soap Starch T 1
Drops of Solution Toothpaste Solution The example of true solution 1s:
ink 1n water
L):!L"&? é‘l.:')y i3l 5l :‘a.t'ﬂf(ﬁﬂjlﬁfa;gb?;]u{u&}"
True Solubilit Sol:fent Sol;te The component of a solution which i1s present in -
Solution 4 larger quantity is called:
Y2 o S d endr Sl | 4
Ether Ammonia Alcohol Water Which one 1s a universal solvent?
T s ) L TR e PRIV I N e
Unsaturated S;lHu = Saturated Sol:fen t The component of solution which 1s present in 4
Solution Solution smaller quantity is called:
MgCl, KBr NaCl CeH, AT |
Which compound is insoluble in water?
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Cu+ Na Cu + Fe Cu+Zn Cu + Ni ‘ :‘:—JC‘JM’L’J& 6
An example of brass solution is:
s A2 ) ﬁ‘/ | 3% “;L;.J)J"’KJ;J:JIVU/ 7
Smoke Mist Fog Air Which one 1s a solution of gas in gas”?
sl el {2t WA rr
J .J?j d J.bd. qu*.d d w . e JedFi o 3
Suid In Liguic. (85 10 Lgoid i Butter 1s an example of which solution?
Liquid Liquid Liquid Gas P |
el 11 ":F’L#J"y o te Jodu el STl 9
Suspension Colloid Hue Solution | Milk of Magnesia 1s an example of:
Solution
altin usdr i Starch Paints Which 1s an example of colloid?
water water
108 104 92 90 e J-V:J:‘l{'_ljé_l?f‘_.g{')}bd;’ﬂ 11
The number of naturally occurring elements is:
uépakcity.org%o J // /‘C l T
o0 &
(= U1 S 0 Z&) A\
RS .
N\ A
D C B A p \8) Questions | Uiy .
e N\ #
P , "\ I .} .
J:jjﬁ J"/U% (;}:lua}g E‘f:@ } ?%Vﬁdffuﬁgfdjﬁﬂfjd;ﬁdljjf}l 1
Downs Cell Nelson’s Cell - Q léﬁ]ﬁlc Spontaneous chemical reactions take place in:
Cell | /7 70> \€ell
N
J,lf“ ﬁjﬂv,ﬁ!‘ J}/@) ?(‘;_ﬂld;ﬂbgf@?&gafTJ;l&:;i’g
L .. QWY Redox Formation of water from hydrogen and oxygen -
Decomposition | N eutrahzat;@gi | . g -
QM Base Reaction | 1s:
Reaction
UInCulA e Ct):’l.,ﬂ)/ DS e s i e S 3
Both A and C | Nelson’s Cell aCflTIC Downs Cell | Which one of these 1s not an electrolytic cell?
S bl A 2T S Ut K, Cr, 0,
+7 +14 +6 +2 The oxidation number of chromium in K,Cr,0, | 4
1S:
T AN
g J?’U 3y " k- Z .
Sodium THELE S U;LJ{/@ S s Nl e 5
Chloride Lime Solution | Sulphuric il Which one of these is not an electrolyte?
: Acid Solution
Solution
Solution
L-U/j)[j L—GJJ!((:“/}.LJ L-FJJ[{";.}J J){J)’Qé‘{ "e-dufdt"rb:-w«fuh/
. . Rusting of Rusting Chemical L. 6
Rusting of Tin ; The most common example of corrosion is:
Aluminium of Iron Decay
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ol Ui L LS et B A A L urd o oF

O O H Cl e Sl suie Suiuo
2 : — . Nelson's cell 1s used to prepare caustic soda !

along with gases. Which of these gas 1s produced

at cathode:
j’/flz/ﬁgd%ufk - »
S Lo |V oo AN T S S , 4 . .
A el P Y fast | e e tum S L Ye oF TRk
tl)‘li’ldl‘ogen 5 L | Oxygen | Hydrogen | During the formation of water from hydrogen 3
elld Vs do AyeHil gdllis hias Fisic and oxygen, which of these does not occur:
oxidizing electrons .
reduced oxidized
agent
Fe(OH), Fe(OH),.nH,O Fe,O, Fe,0,.nH,0 StV 6L 9

The formula of rust 1s:

L7127 Im &P Vsl s & 2 S s 1)

H, CI” H" /n ?é-t'!fL’C)}(JgJ 10
In the redox reaction between Zn and HCI, the
oxidizing agent 1s:

(W& 0 230D

A A )

D C B A ”?x\\v “Questions | Uiy = /:}
PR s 5. %
~\ ¢ ‘e A J*TECL U2 KCIO
+6 +5 +4 +3 4 (Y “xj\\ﬁo. | ‘:'/_/ o . % 3 1
K Lheoxidation number of Cl in KCIO; 1s:
& P & " - &, & 4SSy
sty | iy | T | e b RS
Addition Redox Oxidation | Redue . - 2
: . : NN . The conversion of H,S to sulphur 1s:
Reaction Reaction Reaction [\ “Reaction ;
ek .;’ Nod X ~ ~
P a (e FAITE ek bl
\ “‘\\K/j ) ) ¢ * .
X 0 . G +1 The oxidation number of all elements in the free | 3
PN \“” state is:
N YT . . ’
e :%rﬁ/ﬁg/‘?(u?;;i’;uijj;'l;ygdﬁ
—2 0 —1 +1 The oxidation number of hydrogen i1n metal 4
hydrides 1s:
5 o & ‘< :;:;.t'ﬁ/:‘f,«(/l de:(f J~ OF, 5
- The oxidation number of oxygen in OF, 1s:
e A 4 TE - H,SO
~-10 +8 +6 +4 o A " P e 6
The oxidation number ot sulphur i1n H,SO, 1s:
e A ST £t HNO
-3 +6 +5 +3 . %/.IUJ - ‘u’:/- . T
The oxidation number of nitrogen 1n HNO, 1s:
o The oxidation number of chlorine in HCI 1s:
Al L) OPS ,;-’f'uﬁéjy UK S AUy ;’?uﬁw..{lvuf 9
Acetic Acid | Benzene Na(Cl Sugar Which one i1s a strong electrolyte?
CeH, NaCl CH,COOH NaOH e Jed e Aok 10
Which is an example of non-electrolyte?
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Ca(OH), |  NaCl NaOH | H.SO, ededen Al
The example of weak electrolyte 1is:
u jftlg Y jf‘%ﬁ Th r . :a;;.L"LH’;J ?-qu/ ;"OLJJJ{‘U/ | 12
Alloying | Galvanizing | Reducing Oxidizing | . © process ol coating a thin fayer ol zinc on 1ron
1s called:
; | b, » .
a@pakmty.org %c U;rg d/f‘{ 2,
-, o
(= U1 S 0 ZEN
D C B A Questions /| &y = /
o § o Vg b 5w 5 Yo "Ejz&—ﬂ o s ) &
|’V,:f }:‘.Jg_.’dl/ J:’.J{di) U 3 sz_l:«@;la}}ljdl c.Uf/Lf 1
All of these | Tri-positive | Di-positive o Metals can ﬁegm 10ns carrying charges:
positive S A
2 W 2 £y %;&@"bi&}j L //a_yr/ Ll A5 e
; . . \Wh.l\;hfone of these metal burns with a brick red | 2
Calcium Iron Magnesium Sodium | g
/57<> fame
A | _u.f') :“ u"b.. - iﬁ“ w0 (o
ALy | AL | ALPft | A j*’;ﬁt’( o oL ‘f”f_"j""up f'“y’_(' Sl
o — Salviking T —— f \6 . Sodium 1s extremely reactive metal, but 1t does not 3
p uipis = @”%@f = react with:
v e A\\\ < . y
(~3 ~ SN é\/’ VY (..J-T( ?%&{%JLIU:( U 2 4Okl e Une 4
Sodium Lithium Mggn\&i m Calcium | Which one of these 1s the lightest metal?
AN N
#, b e Zs, b e (.\_,b.“v’ b, Zs, b e A . . . b
i | <$@.~g~@m/ Sy oA AT F o ot S o A
Moderate Non- Weak Strong : : " w 5
. . ; Pure alkali metals can be cut simply by knife but
metallic metallic metallic metallic . :
. . ; . iron cannot because of alkali metals have:
bonding bonding bonding bonding
I o ol (;jr‘ ?%ﬁfdﬁ:ddl(&u:tﬂ 6
Silver Gold [ron Sodium Which one of these 1s less malleable?
O{IJ;:.«JIF U«’/'a JU' 7
| amip 8 |
U.?/*J/ They are 4-(}3"‘7 "’ They are :.J?/){cu}L/@JGUJf'glc,dVT?u: 7
Good electro- They have electro- | Metals lose their electrons easily because:
conductors positive ele(_:tron negative
of heat affinity
<t i A iy tebesie QT suiadtu | g
Magnesium | Selenium Aluminum Sodium Which one of these 1s brittle?
51 Berdl S5k Sk S MES e = Ui 5
Carbon lodine Phosphorus Sulphur Which one of these non-metal 1s lustrous?
exdy sl J b &af@j " . . . : .
L S e e U, U:CJ‘UQU.? sgappeior | 10
Diamond lodine Phosphorus Graphite " - el
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Non-metals are generally soft, but which one of
these 1s extremely hard?

K eed by i 6 JF LG ALHC L e i | 14
Carbon Calcium Potassium Sodium Which one of these will not react with dilute HCI?
(36 012 3l
D C B A Questions /| <y Y-
ﬁ?'}’&' ot irg A :%jzﬁgdzwg}:.».,w 1
Aluminum Cesium Gold Iron The most reactive metal 1s:
s b A 8% e St |,
Gold Silver Platinum Iron The most precious metal 1s:
d// (;ﬁ’z,‘;l L3y (flf;j :‘;;.Jaﬁgd;ﬂ:_?w 3
Mercury Aluminum Sodium Potassium | The least reactive metal 1s:
P Cle o ";:* 2 £ o b S .
b | v | e | e | el
Sodium Gold 73 Iron t 18 not affected by any single mineral acid or
base:
.. elS : s e b ENEEL 5T o s
1789 O/l 5
Yello Golden Brick Red Lustrous | When burned 1n the air, the color of magnesium
W Yellow White flame is: &\
{"’{\;f? )
27 23 22 21 { Cﬂ\"’ "'WMJJ;II et 6
Thé\p@fcentage of oxygen in the atmosphere 18:
14l B2y, i gF N s ) Ce (e 3K S Pt .
lodine Bromine Chlorine Flu@rm’q(?? Which halogen has the lowest electronegativity?
N Cl O | fxgpx ??.D)EJLE#’&;‘:Q.};Q]J&&JJ 8
__ *{f' (\QQ‘ % Which element has the highest electronegativity?
z‘“'-xiak '{‘ | Ve . b 3 e 5 *
3.0 2.1 3EN N 4 N\ | "lf-‘i’:é’fg b 9
Al The electronegativity of fluorine is:
N\ e N O 140 Ouss
48% 47% P 46% 45% | "'1’—”““"‘5/“%_’(' L bt 10
The amount of oxygen 1n earth’s crust 1s:
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